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SBI PO (Pre) -2   
Directions (1-5) : These questions are based on the following 
five statements. For each question, two conclusions numbered I 
and II are given. You have to take the given statements to be 
true even ifthey seem to be at variance with commonly  known 
facts. Read all the conclusions and then  decided which of the 
given conclusions logically and definitely  follows from the given 
statements disregarding  commonly known facts. Give answer 

: fn;s x, izR;sd iz'u esa ik¡p dFku ,oa nks fu"d"kZ I ,oa II fufgr 

gSA vkidks bu dFkuksa dks lR; ekuuk gS] Hkys gh oks loZKkr rF;ksa 

ls fHkUu izrhr gksrs gSA lHkh fu"d"kks± dks i<+s fQj r; djsa fd lHkh 

ik¡p dFkuksa dks fuEufyf[kr dkSu ls fu"d"kZ rkfdZd :i ls 

vuqlj.k djrs gSA 

(1) If only conclusion I follows. 

 ;fn dsoy fu"d"kZ I vuqlj.k djrk gSA 

(2) If only conclusion II follows. 

 ;fn dsoy fu"d"kZ II vuqlj.k djrk gSA 

(3) If either conclusion I or conclusion II follows. 

 ;fn ;k rks fu"d"kZ I ;k II vuqlj.k djrk gSA 

(4) If neither conclusion I nor conclusion II follows. 

 ;fn u rks fu"d"kZ I vkSj u gh II vuqlj.k djrk gSA 

(5) If both conclusions I and II follow. 

 ;fn fu"d"kZ I vkSj II nksuksa vuqlj.k djrs gSaA 

 (1–3) : 

 Statements : dFku  
 All Fathers are Brothers. 

 lHkh firk HkkbZ gSA 

 Some Daughters are not Brothers. 

 dqN iqf=;k¡ HkkbZ ugha gSA 

 Some Mothers are Daughters. 

 dqN ekrk iqf=;k¡ gSA 

 All Sisters are Brothers. 

 lHkh cgus HkkbZ gSA 

 No Father is a Mother. 

 dksbZ firk ekrk ugha gSA 

 1. Conclusion :  

 I. Some Daughters are not Mothers. 

 dqN iqf=;k¡ ekrk ugha gSA 

II. Some Mothers are not Sisters. 

 dqN ekrk cgusa ugha gSA 

 2. Conclusion :  

 I. All Brothers if they are Mothers are also necessarily 
fathers. 

 lHkh HkkbZ ;fn ekrk gS rks os vo'; firk Hkh gSA 

 II. Some Brothers that are not Mothers are also not Sisters. 

 dqN HkkbZ tks ekrk ugha gS] os cgu Hkh ugha gSA 

 3. Conclusion : : 

 I. Some Daughters are not Fathers. 

 dqN iqf=k;k¡ firk ugha gSA 

 II. Some Daughters that are not Sisters can be Mothers. 

 dqN iqf=k;k¡ tks cgusa ugha gS] laHkor% ekrk gks ldrh gSA 

 (4–5) : 

 Statements : dFku % 

 All Employees are Owners. 

 lHkh deZpkjh ekfyd gSA 

 No Owner is a Supervisor. 

dksbZ ekfyd fujh{kd ugha gSA 

Some Employees are not Managers. 

dqN deZpkjh eSustj ugha gSA 

All Managers are Gatekeepers. 

lHkh eSustj pkSdhnkj gSA 

Some Supervisor are Managers. 

dqN fujh{kd eSustj gSA 

4. Conclusion : : 

I. Some Managers who are not Supervisor 
are Employees. 

dqN eSustj tks fujh{kd ugha gS] deZpkjh gSA 

II. Some Supervisor if they are not Gatekeepers are also  
not Employees. 

dqN fujh{kd] ;fn os pkSdhnkj ugha gS] rks deZpkjh Hkh ugha gSA 

5. Conclusion : : 

I. Some Gatekeepers are not Supervisor. 

dqN pkSdhnkj fujh{kd ugha gSA 

II. Some Gatekeepers that are Supervisor are not Owners. 

dqN pkSdhnkj tks fujh{kd gS] ekfyd ugha gSA 

Directions (6-12) : Each of these questions are  
based on the information given below : 

fn, x, lwpuk dks lkoèkkuhiwoZd i<+sa ,oa uhps iz'uksa ds mÙkj nsaA 

P, Q, R, S, W, X, Y and Z are sitting around a circle facing centre 
but not necessarily in the same order. The husband of Z is 
sitting second to the right of Q who is sitting between two 
males. X sits second to the left of the daughter of S. X is the 
sister of Y. X is not an immediate neighbour of Z’s husband. 
Only one person sits between P and X. P is the father of Y. S 
who is brother of Z sits to the immediate left of his mother. Only 
one person sits between Z’s mother and W. Only one person sits 
between Z and Y. Y is mother of R. Y is not an immediate 
neighbour of W. 

P, Q, R, S, W, X, Y rFkk Z ,d oÙ̀k ds dsUnz dh vksj eq[k dj 

ds cSBs gS fdUrq vko';d ugha fd leku Øe esaA Z dk ifr Q ds 

nk,a ls nwljs LFkku ij gS tks fd nks iq#"kksa ds eè; esa gSA X, S dh 

iq=h ds ck,a ls nwljs LFkku ij gSA X, Y dh cgu gSA X, Z ds 

ifr dh fudVre iM+kslh ugha gSA P rFkk X ds eè; dsoy ,d gh 

O;fDr gSA P, Y dk firk gSA S, tks fd Z dk HkkbZ gS] viuh ekrk 

ds Bhd ck,a cSBk gSA Z dh ek¡ rFkk W ds chp dsoy ,d O;fDr 

cSBk gSA Z rFkk Y ds eè; ,d O;fDr cSBk gSA Y, R dh ekrk gSA 

Y, W dh fudVre iM+kslh ugha gSA 

6. Which of following is true with respect to the given seating 
arrangement ? 

 nh xbZ cBS ds O;oLFkk ds vulqkj fuEufyf[kr esa D;k lR; gSa 

\ 

(1) R is the cousin of W 

 R, W dk dftu gSA 

(2) Z and Z’s husband are immediate neighbour of each other. 

 Z, rFkk Z dk ifr ,d nwljs ds fudVre iM+kslh gSA 

(3) No female is an immediate neighbour of R. 

 dksbZ Hkh efgyk R dh fudVre iM+kslh ugha gSA 

(4) Z sits third to the left of her daughter. 

 Z viuh iq=kh ds ck,a ls rhljk gSA 

(5) Q is the mother of Z. 

 Q, Z dh ekrk gSA 

7.  What is the position of P with respect to his grandchild ? 

 P dk vius ukrh@iksrs ds lanHkZ esa D;k LFkku gS \ 

 (1) immediate right  Bhd nk,a 
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 (2) third to the right nk,a ls rhljk

 (3) third to the left ck,a ls rhljk 

 (4) Second to the right nk,a ls nwljk 

 (5) fourth to the right nk,a ls pkSFkk

8. Four of the following five are alike in a certain way. Which 
one does not belong to that group ? 

 fuEufyf[kr ik¡p esa ls pkj ,d fuf'pr rjhds ls ,d leku 

gSA fuEu esa ls dkSu lk bl lewg dk fgLlk ugha gS \ 

 (1) X (2) R (3) W (4) Z (5) Y 
9. What is position of P with respect to his mother-in-law ? 

 P dk viuh lkl ds lanHkZ esa D;k LFkku gS \ 

 (1) Immediate right fudVre nk,a

 (2) third to the right nk,a ls rhljk 

 (3) third to the left ck,a ls rhljk

 (4) second to the right nk,a ls nwljk

 (5) None of these buesa ls dksbZ ugha 

10. How many people sits between Y and her uncle ? 

 Y rFkk mlds vady ds eè; fdrus O;fDr gS \ 

 (1) One (2) Two (3) Three (4) Four (5) Five 
11. Who amongst the following is S’s daughter? 

 fuEu esa ls dkSu S dh iq=h gS \ 

 (1) Q (2) R (3) W (4) Y (5) Z 
12. Who sits to the immediate left of R ? 

 R ds Bhd ck,a dkSu cSBk gS \ 

 (1) X’s grandmother X dh nknh

 (2) Y’s son Y dk iq= 

 (3) S’s mother-in-law S dh lkl 

 (4) P  (5) Y 
Directions (13-17) : Read the following information and answer 
the questions. 

fuEufyf[kr tkudkjh dk è;kuiwoZd vè;;u dj uhps fn, x, 

iz'uksa ds mÙkj nhft,% 

A word and number arrangement machine when given an input 
line of words and numbers rearranges them following a 
particular rule in each step. The following is an illustration of an 
input and rearrangement. 

,d 'kCn@la[;k O;oLFkk e'khu dks tc 'kCnksa vkSj la[;kvksa dh 

,d buiqV ykbZu nh tkrh gS] og izR;sd pj.k esa ,d [kkl fu;e 

dk  ikyu djrs gq, mUgsa iquZO;ofLFkr djrh gSA uhps buiqV vkSj 

iquZO;oLFkk dk ,d mnkgj.k fn;k x;k gSA 

Input:17 put show on 39 27 85 goldStep I: show 17 put on 39 

27 85 gold 
Step I: show 17 put on 39 27 85 gold 
Step II: show 85 17 put on 39 27 gold 

Step III: show 85 put 17 on 39 27 gold 
Step IV: show 85 put 39 17 on 27 gold 
Step V: show 85 put 39 on 17 27 gol 
Step VI: show 85 put 39 on 27 17 gold 
Step VII: show 85 put 39 on 27 gold 17 
Step VII is the last step of the rearrangement of 
the above input. 

pj.k VII bl iquZO;oLFkk dk vafre pj.k gSA 

13. Input: glass full 15 37 water now 85 67 

Which of the following will be step VI of the above input ? 

buiqV: glass full 15 37 water now 85 67 

fuEufyfy[kr esa ls dkSu lk mij fn;s x, buiqV dk pj.k 

VI gksxk \ 
(1) water 85 now 67 full glass 15 37 

(2) water 85 now 67 glass full 15 37 
(3) water 85 now 67 glass 37 full 15 

(4) There will be no such step 

,slk dksbZ pj.k ugha gksxk 

(5) None of these 
14. Step II of an input is : ultra 73 12 16 mail sort 39 kite 

Which of the following steps will be the last but one ? 

,d buiqV dk pj.k II : ultra 73 12 16 mail 

sort 39 kite 

fuEUkfyf[kr esa ls dkSu lk vafre pj.k ls ,d igyk pj.k 

gksxk \ 

(1) VIII (2) IX 
(3) VII (4) VI 
(5) None of these 
15. Step III of an input is : win 75 voice 15 39 

store gap 26 
Which of the following is definitely the input ? 

,d buiqV dk pj.k III : win 75 voice 15 39 

store gap 26 

fuEufyf[kr esa ls dkSu lk fuf'pr :i ls buiqV gksxk \ 

(1) voice 15 win 75 39 store gap 26 
(2) voice win 75 15 39 store gap 26 
(3) 15 75 win voice store gap 26 

(4) Cannot be determined fu/kZfjr ugha fd;k tk ldrk 

(5) None of thes 
16. Step II of an input is: tube 83 49 34 garden flower rat 56 
How many more steps will be required to complete the 
rearrangement ? 

,d buiqV dk pj.k II : tube 83 49 34 garden flower rat 56 

iquZO;oLFkk dks iwjk djus ds fy, vkSj fdrus pj.kksa dh 

gksxh \ 

(1) Four (2) Five (3) Six (4) Three (5) None of these 
17. Input: hunt for 94 37 good 29 48 book 

How many steps will be required to complete the rearrangement 
? 

buiqV % hunt for 94 37 good 29 48 book 

iuqZO;oLFkk dks iwjk djus ds fy, fdrus pj.kkas dh vko';drk 

gksxh \ 

(1) Four (2) Five (3) Six (4) Seven (5) None of these 
Directions (18–22) : In the following questions, the symbols @, 

$, %, # and © are used with the following meanings 
illustrated : 

nh x;h lwpuk dks è;kuiwoZd i<+sa vkSj iz'uksa ds mÙkj nsaA @, $, 

%, # vkSj © dk iz;ksx fuEufyf[kr vFkZ eas fd;k x;k gS] tSls 

fd uhps n'kkZ;k x;k gSA 

‘A @ B’ means ‘A is not smaller than B’. 

‘A @ B’ dk vFkZ gS ‘A, B ls NksVk ugha gSA’ 

‘A $ B’ means ‘A is not greater than B’. 

‘A $ B’ dk vFkZ gS ‘A, B ls cM+k ugha gSA’ 

‘A % B’ means ‘A is neither smaller than nor equal to B’. 

‘A % B’ dk vFkZ gS ‘A, B ls u rks NksVk gS vkSj gh cjkcj gSA’ 

‘A # B’ means ‘A is neither greater than nor equal to B’. 

‘A # B’ dk vFkZ gS ‘A, B ls u rks cM+k gS vkSj u gh cjkcj gSA’ 

‘A © B’ means ‘A is neither smaller than nor greater than B’. 
In each of the following questions assuming the given 
statements to be true, find out which of the two conclusions I 
and II given below them is/are definitely true. Give answer— 

‘A © B’ dk vFkZ gS ‘A, B ls u rks NksVk gS vkSj u gh cM+k gSA’ 

uhps fn, x, izR;sd iz'uksa esa fn, x, dFkuksa dks lR; ekurs gq, 
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irk yxkb, fd uhps fn;s x, fu"d"kZ I vkSj II esa dkSu lk@dkSu 

ls fu"d"kZ fuf'pr :i ls lR; gS\ 

1.  If only conclusion I is true. 

 ;fn dsoy fu"d"kZ I lR; gSA 

2.  If only conclusion II is true. 

 ;fn dsoy fu"d"kZ II lR; gSA 

3.  If either conclusion I or conclusion II is true. 

 ;fn ;k rks fu"d"kZ I ;k fu"d"kZ II lR; gSA 

4.  If neither conclusion I nor conclusion II is true. 

 ;fn u rks fu"d"kZ I vkjS u gh fu"d"kZ II lR; gSaA 

5.  If both conclusions I and II are true. 

 ;fn nksuksa fu"d"kZ I o II lR; gSA 

18. Statements : dFku % 
 C $ D, A @ B, B # C 

 Conclusions : fu"d"kZ % 
I.  D % A II. C % A 

19. Statements : dFku % 
 N @ P, M $ N, P % Q 

 Conclusions : fu"d"kZ % 
 I. P © M II. Q # N 

20. Statements : dFku % 
 G @ H, E % F, F # G, 

 Conclusions : fu"d"kZ % 
 I. H # F II. E % G 

21. Statements : dFku % 
 K $ L, J © K, L % M 

 Conclusions : fu"d"kZ % 
 I. L © J II. L % J 

22. Statements : dFku % 
 Y © Z, W # X, X % Y 

 Conclusions : fu"d"kZ % 
 I. Z # X II. Y # W 
Directions (23-27) : Read the following information carefully and 

answer the questions given below it— 

funsZ'k (23-27) : fn, x, lwpuk dks lkoèkkuhiwoZd i<+sa ,oa uhps  

iz'uksa ds mÙkj nsaA 

Six lectures Maths, Science, History, Economics, English and 
Hindi are to be scheduled starting from 12th April and  ending 
on 18th April with Sunday being an off day, not necssarily in the 
same order. Each of the lecture has different time duration: 45 
mins, 55 mins, 65 mins, 75 mins, 95 mins and 105 mins, again 
not necessarily in the same order. 18th April is not sunday and a 
lecture of 45 mins is scheduled on that day. Maths lecture is for 
less than 65 mins and is scheduled immediately before English 
lecture. There are two lectures scheduled between Hindi lecture 

which is for 105 mins and History lecture which is for 65 mins. 
English lecture is before Sunday and there are two days 
between sunday and maths lecture. Economics lecture which is 
for 75 mins is not scheduled on 12th April. The lecture schedules 
on saturday is of 105 mins.  

xf.kr] foKku] bfrgkl] vFkZ'kkL=k] vaxzsth] rFkk fgUnh ds N% 

yDpj 12 vizSy ls 18 vizSy rd] ftlesa jfookj ,d NqVhð dk 

fnu gS vk;ksftr dh tkrh gS fdUrq vko';d ugha fd blh Øe esaA 

izR;sd ysDpj dk vyx&vyx le; vof/ tSls 45 feuV] 55 

feuV] 65 feuV] 75 feuV] 95 feuV rFkk 105 feuV gS fdUrq 

vko';d ugha fd blh Øe esaA 18 vizSy jfookj ugha gS rFkk bl 

fnu 45 feuV dk ysDpj vk;ksftr fd;k tkrk gSA xf.kr dk 

ysDpj 65 feuV ls de dk gS rFkk vaxzsth ds ysDpj ls Bhd 

igys vk;ksftr fd;k tkrk gSA fgUnh ysDpj tks 105 feuV dk gS] 

rFkk bfrgkl ysDpj tks 65 feuV dk gS] ds chp esa nks ysDpj 

vk;ksftr fd, tkrs gSA vaxzsth dk ysDpj jfookj ls igys gS rFkk 

jfookj ,oa xf.kr ysDpj ds chp nks fnu gSA vFkZ'kkL=k dk ysDpj 

tks 75 feuV dk gS 12 vizSy dks vk;ksftr ugha gksrkA 'kkfuokj 

dks vk;ksftr ysDpj 105 feuV dk gSA 

23. How many lectures are scheduled before sunday? 

jfookj ls igys fdrus ysDpj vk;ksftr fd, tkrs gS \ 

(1) Two (2) One (3) Five (4) Three (5) None of these 
24. Which of the following combinations of lecture - Day –Time 

Duration is correct ? 

 fuEUkfyf[kr esa ls dkSu lk ysDpj&fnu&le; vof/k dk ;qXe 

lgh gS \ 

(1) English - Wednesday - 75 mins  

 vaxzsth & cq/kokj & 75 feuV 

(2) Maths - Thursday - 55 mins 

 xf.kr & xq:okj & 55 feuV 

(3) History - Thursday – 65 mins 

 bfrgkl & xq:okj & 65 feuV 

(4) Hindi - Tuesday - 105 mins 

 fgUnh & eaxyokj & 105 feuV 

(5) None is correct 

 buesa ls dksbZ ugha 

25. What is the time duration of science lecture? 

 foKku ds ysDpj dk le; varjky fdruk gS \ 

 (1) 95 mins (2) 75 mins (3) 55 mins (4) 45 mins (5) None of 
these 

26. On which day is Economics lecture scheduled? 

 vFkZ'kkL= dk ysDpj fdl fnu vk;ksftr fd;k tkrk gS \ 

 (1) Monday (2) Saturday (3) Tuesday (4) Friday (5) None of 
these 

27. Which day is sunday? 

 fdl fnu jfookj gS \ 

 (1) 13th April (2) 12th April (3) 15th April (4) 16th April (5) 
None of these 

Directions (28-32) : Study the following information and answer 
the given question. 

fn, x, lwpuk dks lkoèkkuhiwoZd i<+sa ,oa uhps iz'uksa ds mÙkj nsaA 

Eight players Sachin, Kohli, Yuvraj, Raina, Ganguli, Nehra, 
Pathan and Dhawan live on eight different floors of abuilding but 
not necessarily in the same order. The lowermost floor of the 
building is numbered one, the one above that is numbered two 
and so on till the topmost floor is numbered eight. Sachin lives 
on floor numbered 4. Only one person lives between Sachin and 
Yuvraj. Nehra lives on the floor immediately below Yuvraj. 
Onlyone person lives between Nehra and Pathan. Pathan lives 
above Nehra. Nehra lives on floor numbered 5. Only one person 
live between kohli and Ganguli. Raina lives on an even 
numbered floor but does not live on floor numbered 8. Kohli 
lives above Ganguli's floor. 

vkB f[kykM+h lfpu] dksgyh] ;qojkt] jSuk] xkaxqyh] usgjk] iBku 

rFkk /ou ,d bekjr dh vkB eaftyksa ij jgrs gS ij vko';d 

ugh fd blh Øe esaA bekjr dh lcls fupys eafty dks ,d] 

mlds mij dh nks rFkk blh izdkj Øe'k% lcls mQijh eafty dks 

vkB ls n'kkZrs gSA lfpu eafty 4 ij jgrk gSA lfpu rFkk 

;qojkt ds chp dsoy ,d O;fDr jgrk gSA usgjk] ;qojkt ds Bhd 

uhps okyh eafty ij jgrk gSA usgjk rFkk iBku ds chp dsoy ,d 

O;fDr gSA iBku] usgjk ls mij dh efaty ij jgrk gSaA usgjk 
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eafty 5 ij jgrk gSA dksgyh rFkk xkaxqyh ds chp dsoy ,d 

O;fDr jgrk gSA jSuk ,d le la[;k okyh eafty ij jgrk gS] 

fdUrq okyh eafty 8ij ugha jgrk gSA dksgyh] xkaxqyh ds mij 

okyh eafty ij jgrk gSA 

28. Four of the following five are alike as per the given 
arrangement and thus form a group. Which of the following 
does not belong to that group? 

 nh xbZ O;oLFkk ds vuqlkj fuEufyf[kr ik¡p esa ls dksbZ pkj 

fuf'pr rjhds ls ,dleku gS rFkk ,d lewg dk fuek.Zk 

djrs gS fuEu es ls dkSu bl lewg ls lacaf/kr ugha gSaA 

 (1) Pathan, Nehra (2) Dhawan, Yuvraj (3) Raina, Sachin (4) 
Yuvraj, Sachin (5) Raina, Ganguli 

29. Who lives exactly between the floors on which Yuvraj and 
Sachin live? 

 ;qojkt rFkk lfpu dh eaftyksa ds Bhd chp okyh eafty ij 

dkSu jgrk gS \ 

 (1) Kohli (2) Pathan (3) Nehra (4) Ganguli (5) Raina 
30. Who amongst the following lives on floor numbered 2? 

 eafty 2 ij dkSu jgrk gS \ 
 (1) Raina (2) Yuvraj (3) Nehra (4) Dhawan (5) Pathan 
31. Which of the following is true about Raina as per given 

information ? 

 nh xbZ tkudkjh ds vuqlkj jSuk ds lanHkZ esa fuEufyf[kr esa ls 

D;k lR; gS \ 

(1) Raina lives on the lowermost floor. 

 jSuk lcls fupyh eafty ij jgrk gSA 

(2) Kohli lives on one of the floor below Raina. 

 dksgyh] jSuk ds uhps okyh eaftyks es ls fdlh ,d ij jgrk 

gSaA 

(3) All the given statements are true. 

 fn, x, lHkh dFku lR; gSA 

(4) Only two people live between Raina and Nehra. 

 jSuk rFkk usgjk ds chp dsoy nks O;fDr jgrs gSA 

(5) Raina lives on an odd numbered floor. 

 jSuk ,d fo"ke la[;k okyh eafty ij jgrk gSA 

32. If Yuvraj and Dhawan interchange their places and so do 
Raina and Sachin, who amongst the following will live 
between the floors on which Raina and Pathan live, as per 
the given arrangement? 

 ;fn ;qojkt rFkk /ou vius LFkku cny ys rFkk blh izdkj 

jSuk rFkk lfpu Hkh vius LFkku cny ys rks nh xbZ O;oLFkk ds 

vuqlkj fuEufyf[kr esa ls dkSu jSuk rFkk iBku dh eaftyksa ds 

chp okyh eaftyksa ij jgrk gksxk \ 

 (1) Only Dhawan (2) No one (3) Only Yuvraj (4) Both Pathan 

and Yuvraj (5) Both Dhawan and Nehra 
Directions (33-35) : In each question below is given  a 
statement followed by two courses of action  numbered I, II and 
III. You have to assume  everything in the statement to be true, 
then decide  which of the two suggested courses of action  
logically follows for pursuing. 

uhps fn, x, izR;sd iz'u esa ,d dFku vkSj mlds ckn dk;Zokfg;ks 

ds rhu mik; I, II vkSj III fn, x, gaSA vkidks dFku es a nh xbZ 

iRz ;sd ckr dks lgh ekuuk gS vkSj  mlds ckn r; djuk g S fd 

fn, x, nks lq>koks es dkSu lh dk;Zokgh dk;kZUo;u ds fy, 

rdZlaxr :i ls vuqlj.k djrh gSA 

33. Statements : dFku % 

According to the officials, paucity of funds with the  
organisation has led to the pathetic condition of this  

brilliant architectural structure. 

vf/kdkfj;ks ds vuqlkj] laxBu ds ikl /ku dk vkHkko gh bl  

'kkunkj okLrq lajpuk dh n;uh; gkyr dk dkj.k gSA 

Courses of Action : dk;Zokgh % 
I.  A new architectural Structure for thebuilding should be  

designed. 

 bZekjr ds fy, ,d u;h oLrq lajpuk rS;kj dh tkuh pkfg,A 

II.  The reasons for the poor condition of the structure  should 
be found out. 

 lajpuk dh cqjh fLFkfr ds dkj.kksa dk irk yxk;k tkuk pkfg,A 

III. Grant should be given to improve the condition of the 
structure. 

 lajpuk dh fLFkfr lq/kjus dh LohÑfr nh tkuh pkfg,A 

(1) Only I follows  

 dsoy I vuqlj.k djrk gSA 

(2) Only II follows 

 dsoy II vuqlj.k djrk gSA 

(3) Only III follows 

 dsoy III vuqlj.k djrk gSA 

(4) Only II and III follow 

 dsoy II ,oa III vuqlj.k djrs gSA 

(5) Only I and III follow 

 dsoy I ,oa III vuqlj.k djrs gSA 

34. Statements : dFku % 
 In the Teacher’s Day function, Shri Sharma, a state awardee 

and a retired principal had questioned the celebration of 
Teacher’s Day in today’s materialistic world. 

 f'k{kd fnol lekjksg esa Jh 'kekZ jkT; }kjk lEekfur ,oa ,d  

lsokfuo`Ùk izkpk;Z Jh 'kekZ us vkt dh HkkSfrdoknh nqfu;k esa 

f'k{kd fnol mRlo dh egÙkk ij iz'u mBk;kA 

Courses of Action : dk;Zokgh % 
I. The expenditure of Teacher’s Day celebration should be 

reduced. 

 f'k{kd fnol mRlo dk O;; de fd;k tkuk pkfg,A 

II. More funds should be allocated for the celebration of  
Teacher’s Day. 

 f'k{kd fnol mRlo ds fy, vkSj vf/d /kujkf'k vkoafVr dh 

tkuh pkfg,A 

III. The role and responsibilities of teachers should be seen in 
today’s perspective. 

 f'k{kdksa dh Hkqfedk rFkk ftEesnkfj;ksa dks vkt ds ifjizs{; esa 

ns[kk tkuk pkfg,A 

 (1) All follow lHkh vuqlj.k djrs gSA

 (2) None follows dksbZ vuqlj.k ugha djrk gSA

 (3) Either I or II follows ;k rks I ;k II vuqlj.k djrk gSA 

 (4) Only III follows dsoy III vuqlj.k djrk gSA

(5) Only II and III follow dsoy II ,oa III vuqlj.k djrs gSA

35. Statements : dFku % 
 In the city, over 75% of the people are living in slums and 

sub-standard houses, which is a reflection on the housing 
and urban development policies of the Government. 

 'kgjksa esa 75% ls vf/kd yksx efyu cfLr;ksa rFkk ?kfV;k Lrj 

ds edku esa jg jgs gS tks ljdkj dh vkokl ,oa 'kgjh fodkl 

;kstuk dk ,d izfrfcEc gSA 

 Courses of Action : dk;Zokgh % 
I.  There should be a separate department looking after housing 

and urban development. 
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 vkokl rFkk 'kgjh fodkl dh ns[k&js[k ds fy, ,d vyx 

foHkkx gksuk pkfg,A 

II.  The policies in regard to urban housing should be reviewed. 

 'kgjh vkokl ls lacaf/kr ;kstukvksa dh leh{kk dh tkuh pkfg,A 

III. The policies regarding rural housing should also be reviewed 
so that such problems could be avoided in rural areas. 

 xzkeh.k vkokl laca/kh ;kstukvksa dh Hkh leh{kk dh tkuh pkfg, 

rkfd xzkeh.k {ks=ksa esa ,slh leL;kvksa ls cpk tk ldasA 

 (1) Only I follows  

 dsoy I vuqlj.k djrk gSA 

 (2) Only II follows 

 dsoy II vuqlj.k djrk gSA 

 (3) Only II and III follow 

 dsoy II ,oa III vuqlj.k djrs gSA 

(4) Either II or III follows 

 ;k rks II ;k III vuqlj.k djrk gSA 

 (5) Only I and II follow 

 dsoy I ,oa II vuqlj.k djrs gSA 

Directions (36–40) : What should come in place of the question 
mark (?) in the following questions ? 

fuEufyf[kr iz'uksa esa iz'u&fpUg ¼\½ ds LFkku ij vkus okys 

la[;kvksa dk eku crk,a&  

36. 475 + 64% of 950 = 900 + ? 
 (1) 183 (2) 233 (3) 1983 (4) 1863 (5) None of these 

37. (0.064) × (0.4) ?
 = (0.4) ?

 + (0.0256) 2
 

 (1) 17 (2) 2 (3) 18 (4) 3 (5) None of these 
38. 534.596 + 61.472 - 496.708 = ? + 27.271 
 (1) 126.631 (2) 62.069 (3) 72.089 (4) 132.788 (5) None of 

these 
39. 16 × 12 – 672 ÷ 21 = ? – 211 
 (1) 381 (2) 347 (3) 372 (4) 311 (5) None of these 

36. 475 + 950 dk 64% = 900 + ?  

 (1) 183 (2) 233 (3) 1983 (4) 1863 (5) buesa ls dksbZ ugha

37. (0.064) × (0.4)
7

 = (0.4)
?
 + (0.0256)

2
 

 (1) 17 (2) 2 (3) 18 (4) 3 (5) buesa ls dksbZ ugha

38. 534.596 + 61.472 - 496.708 = ? + 27.271 

 (1) 126.631 (2) 62.069 (3) 72.089 (4) 132.788 (5) buesa ls 

dksbZ ugha

39. 16 × 12 – 672 ÷ 21 = ? – 211 

 (1) 381 (2) 347 (3) 372 (4) 311 (5) buesa ls dksbZ ugh 

40.   2( 5 2) ? 80  

(1) 4 5 4 (2) 4 5  (3) 9 4 5  (4) 9 (5) buesa ls dksbZ Ukgh 

funs'Zk (41–45) : fuEufyf[kr la[;k Ükza`[kyk es iz'u fpUg ¼\½ ds 

LFkku ij D;k gksuk pkfg,\ 

41. 7 20 46 98 202 (?) 

 (1) 420 (2) 410 (3) 310 (4) 320 (5) buesa ls dksbZ ugha

42. 210 209 213 186 202 (?) 

 (1) 138 (2) 77 (3) 177 (4) 327 (5) buesa ls dksbZ ugha

43. 27 38 71 126 203 (?) 

 (1) 212 (2) 202 (3) 301 (4) 312 (5) buesa ls dksbZ ugha

44. 435 354 282 219 165 (?) 

 (1) 103 (2) 112 (3) 120 (4) 130 (5) buesa ls dksbZ ugha

45. 4 200 369 513 634 (?) 

 (1) 788 (2) 715 (3) 734 (4) 755 (5) buesa ls dksbZ ugh 

Directions (46–50) : What approximate value  should come in 
place of question mark (?) in the following question ? (Note: You 
are not expected  to calculate the exact value) 

46. 9228.789 – 5021.832 + 1496.989 = ? 
(1) 6500 (2) 6000 (3) 6300 (4) 5700 (5) 5100 

47. 1002 ÷ 49 × 99 – 1299 =? 
(1) 700 (2) 600 (3) 900 (4) 250 (5) 400 
48. 29.8% of 260 + 60.01% of 510 - 103.57 = ? 
(1) 450 (2) 320 (3) 210 (4) 280 (5) 350 
49. (21.98)2– (25.02)2+ (13.03)2

 = ? 
(1) 25 (2) 120 (3) 10 (4) 65 (5) 140 
50. 2498 × 626 ÷ 99 = ? 
(1) 110 (2) 90 (3) 200 (4) 160 (5) 125 
Directions (51–55) : In the following questions two equations 
numbered I and II are given. You have to solve both the 
equations and give answer. 
1. If x > y  2. If x   y 

3. If x < y 4. If x  < y 

5. If x = y or the relationship cannot be established. 

51. I. x2
 – 10x + 21 = 0 

 II. y2 – 16y + 63 = 0 
52. I. x2

 – (16)2
 = (23)2 – 56 

 II. y1/3 – 55 + 376 = (18)2
 

53.  
12 8

I. x
x x

  

9

2(18)
II.y 0

y
 

54.  I. 36x 64 0   2II. 81y (4) 0  

55.  
25 9

I. 17 x
x x

  
y 5 y 3

II.
3 6 y

 

56. The area of a square is 1024 sq cm. What is the ratio of the 
length to breadth of a rectangle whose length is twice the 
side of the square and breadth is 12 cm less than the side of 
the square ? 

 ,d oxZ dk {ks=kiQy 1024 oxZ lseh gSA ,d vk;r] ftldh 

yackbZ oxZ dh Hkqtk dh nksxquh gS rFkk pkSM+kbZ oxZ dh Hkqtk ls 

12 lseh- de gS] fd yackbZ dk pkMS+kbZ ls vuqikr Kkr djs a \ 

 (1) 5 : 18 (2) 16 : 7 (3) 14 : 5 (4) 32 : 5 (5) None of these 
57. In a cricket match, Sachin and Viru scored a century each 

(more than 100 runs) and Yuvi and Gautam scored a half 
century each. Gautam scored 76 runs and Yuvi scored 12 
runs less than Gautam. Viru scored 102 runs. The sum of the 
scores of all the four players is 442. How many runs did 
Sachin score ? 

 ,d fØdsV eSp esa lfpu rFkk ch: izR;sd us 'krd ¼100 ls 

vf/kd ju½ cuk;k rFkk ;qoh rFkk xkrS e izR;sd us vèk'Zkrd 

cuk;kA xkSre us 76 ju cuk;s rFkk ;qoh us xkSre ls 12 ju 

de cuk;sA oh: us 102 ju cuk;s gSA pkjksa f[kykfM+;ksa }kjk 

cuk;s x, lHkh juks dk ;ksx 442 g]S rks lfpu us fdrus ju 

cuk;s a \ 

(1) 200 (2) 210 (3) 180 (4) 160 (5) None of these 
58. Train A corsses a pole in 20 seconds and Train B crosses the 

same pole in one minute. The length of Train A is half the 
length of Train B. What is the ratio of the speed of Train A to 
that of Train B ? 

 Vsªu A ,d [kacs dks 20 lsds.M esa ikj djrh gS rFkk Vsªu B 

mlh [kcas dks ,d feuV eas ikj djrh gSA Vsªu A dh yackbZ Vsªu 

B dh yackbZ ds vk/kh gSA Vsªu A dh pky dk Vsªu B dh pky 

ls vuqikr Kkr djsa \ 

(1) 3 : 2(2) 3 : 4(3) 4 : 3(4) Cannot be determined(5) None of 
these 
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59. The cost of 8 kg of almonds is equal to the cost of 50 kg of 
apples. The cost of 19 kg of mangoes is ` 456. The cost of 1 

kg of apples is twice the cost of 2 kg of mangoes. What is 
the total cost of 3 kg of almonds and 4 kg of apples together 
? 

8  fdxzk cknke dk ewY; 50 fdxzk- lsc ds ewY; ds cjkcj gSA 19 

fdxzk vke dk ewY; Rs. 456 gSA 1 fdxzk- lsc dk ewY; 2 

fdxzk- vke ds ewY; ls nksxquk gSA 3 fdxzk cknke rFkk 4 fdxzk 

lsc dk dqy ewY; fdruk gksxk \ 

 (1) Rs. 2,168 (2) Rs. 2,248 (3) Rs.2,184 (4) Rs. 2,264 (5) 
None of these 

60. On a certain sum of money, the simple interest for 2  years 
is Rs. 100 at the rate of 8% per annum. What is the  

difference in CI and SI. 

 ,d fuf'pr jkf'k ij 8% okf"kZd nj ls 2 o"kZ esa lkèkkj.k 

C;kt Rs.100 gksrk gS] rks pØof̀) C;kt vkSj lkèkkj.k C;kt 

dk varj D;k gS\ 

(1) Rs. 16 (2) Rs. 8 (3) Rs. 4 (4) Rs. 2 (5) None of these 
Directions (61–65) : Study the table carefully to  answer the 
questions that follow: 

 fuEufyf[kr Vscu dks è;kuiwoZd vè;;u dj bu iz'uksa ds mÙkj 

nhft,  

Number of girls and boys (in hundreds) in six different years in 
five different schools  

ik¡p fofHkUUk fo|ky;ksa esa N% vyx&vyx o"kks± esa yM+fd;ksa rFkk 

yM+dksa dh la[;k ¼lSdM+ksa es½ 

 

 
61. What is the approximate percentage decrease in the 

number of boys in school D in the year 2008 as compared to 
that in the previous year ? 

 o"kZ 2008 esa fiNys o"kZ dh rqyuk esa fo|ky; D esa yM+dksa dh 

la[;k esa yxHkx fdrus izfr'kr dh deh gqbZ gS\ 

 (1) 17 (2) 12 (3) 9 (4) 5 (5) None of these 
62. The number of girls in school B in the year 2009 is 

approximately what percent of the total number of 
students (both boys and girls) in school E in the year 2006 ? 

 o"kZ 2009 es fo|ky; B es yM+fd;kas dh la[;k] o"kZ 2006 esa 

fo|ky; E esa lHkh Nk=ksa ¼yM+ds rFkk yM+fd;k¡ nksuksa½ dh dqy 

la[;k dk yxHkx fdrus izfr'kr gS \ 

 (1) 46 (2) 52 (3) 65 (4) 58 (5) None of these 
63. What is the average number of girls in school A in all the 

years taken together ? 

lHkh o"kks± dk ,d lkFk feydj fo|ky; A esa yM+fd;ksa dh 

vkSlr la[;k Kkr djsa \ 

 (1) 760 (2) 800 (3) 860 (4) 600 (5) None of these 
64. What is the ratio of the number of boys in school C in the 

year 2009 to the number of girls in school A in the year 2009 
? 

 o"kZ 2009 esa fo|ky; C esa yM+dksa dh la[;k rFkk o"kZ 2009 esa 

gh fo|ky; A esa yM+fd;ksa dh la[;k dk ijLij vuqikr Kkr 

djsa \ 

 (1) 29 : 41 (2) 36 : 11 (3) 29 : 43 (4) 36 : 13 (5) None of 
these 

65. In which year is the total number of students (both girls and 
boys together) the third highest in school E ? 

fo|ky; E esa fdl o"kZ lHkh Nk=ksa dh dqy la[;k ¼yM+ds rFkk  

yM+fd;ksa nksuksa½ rhljh lcls vf/kd gksxh \ 

(1) 2006 (2) 2007 (3) 2008 (4) 2005 (5) None of these 
Directions (66–70) : Study the following piechart and bar-graph 
and answer the following question.  

funsZ'k (66–70) : uhps fn, x, iz'uksa dk mÙkj nsus ds fy, 

fuEufyf[kr ikbZ pkVZ dks è;ku iwoZd i<s+& 

Percentage wise distribution of teachers insix different districts 
Total number of Teachers = 4500 Percentage of Teachers 

N% fofHkUUk ftyksa esa f'k{kdks dk izfr'kr forj.k f'k{kdksa dh dqy  

la[;k = 4500 

 

 

Number of males out of 4500 teachers is each district separately 

4500 f'k{kdkas esa ls izR;ds ftys esa i#q"kksa dh vyx&vyx l[a;k 

 
66. What is the total number of male teachers in District F, 

female teachers in District C and female teachers in District B 
together? 

 ftyk F esa iq#"k f'k{kd ftyk C esa efgyk f'k{kd rFkk ftyk 

B esa efgyk f'k{kdksa dh dqy la[;k Kkr djsa \ 

 (1) 1080 (2) 1120(3) 1180 (4) 1020(5) None of these 
67.The number of female teachers in District D is 

approximately what percent of the total number of 

teachers (both male and female) in District A ? 

 ftyk D esa efgyk f'k{kdksa dh la[;k] ftyk A ds dqy f'k{kdksa 

¼iq#"k rFkk efgyk nksuksa½ dk yxHkx fdruk izfr'kr gS \ 
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 (1) 70 (2) 75(3) 80 (4) 90(5) None of these 
68. In which district is the number of male teachers more than 

the number of female teachers ? 

 fdl ftys esa iq#"k f'k{kdksa dh la[;k efgyk f'k{kdksa dh la[;k 

ls vf/kd gS \ 

 (1) B only (2) D only (3) Both B and E (4) Both E and F(5) 
None 

69. What is the difference between the number of female 
teachers in District F and the total number of teacher (both 
male and female) in District E ? 

 ftyk F dh efgyk f'k{kdksa dh la[;k rFkk ftyk E esa lHkh 

f'k{kdksa ¼iq#"kksa rFkk efgyk nksuksa½ dh dqy la[;k esa vUrj 

fdruk gS \ 

 (1) 625 (2) 775(3) 675 (4) 725(5) None of these 
70. What is the ratio of the number of male teachers in District C 

to the number of female teachers in District B ? 

 ftyk C esa iq#"k f'k{kdksa dh la[;k dk ftyk B esa efgyk 

f'k{kdksa dh la[;k ls vuqikr Kkr dsaj \ 

(1) 11 :15 (2) 15 : 11 (3) 15 : 8 (4) 30 : 13(5) None of these 
Directions (71–80) : Read the following passagecarefully and 
answer the questions given belowit. Certain words have been 
printed in bold tohelp you locate them while answering some 
ofthe questions. 
King Hutamasan felt he had everything in the World not only 
due to his riches and his noble knights, but because of his 
beautiful queen, Rani Matsya. The rays of the Sun were put to 
shame with the iridescent light that Matsya illuminated, with her 
beauty and brain. At the right hand of the king, she was known 
to sit and aid him in all his judicial probes. You could not escape 
her deepset eyes, when you commit a crime as she always know 
the victim and the culprit. Her generosity preceded her 

reputation in the kingdom and her hands were always full to 
give. People in the kingdom revered her because if she passed 
by, she always gave to the compassionate and poor.Far away 
from the kingly palace lived a man named Raman with no ends 
to his poverty and no means to rectify it. Raman was wrecked 
with poverty as he had lost all his land to the landlord. His age 
enabled him little towards manual labour and so begging was 
the only alternative to salvage his wife and children. Every 
morning, he went door to door for some work, food or money. 
The kindness of people always got him enough to take home. 
But Raman was a little self-centered. His World began with him 
first, followed by his family and the rest. So, he would eat and 
drink to his delight and return home with whatever he found 
excess. This routine followed and he never let anyone discover 
his interests as he always put on a long face, when he reached 
home. One day as he was relishing the bowl of rice he had just 
received from a humble home, he heard that Rani Matsya was to 
pass from the very place he was standing. Her generosity had 
reached his ears and he knew if he pulled a long face and 
showed how poor he was, she would hand him a bag full of gold 
coins - enough for the rest of his life, enough to buy food and 
supplies for his family. He thought he could keep some coins for 
himself and only reveal a few to his wife, so he can fulfill his 
own wishes.He ran to the chariot of the Rani and begged her 
soldiers to allow him to speak to the queen. Listening to the 
arguments outside Rani Matsya opened the curtains of her 
chariot and asked Raman what he wanted. Raman went on his 
knees and praised the queen. I have heard you are most 
generous and most chaste, show this beggar  some charity. Rani 
narrowed her brows and asked Raman  what he could give her 

in return, surprised by such a question, Raman looked at his 
bowl full of rice. With spite in him he just picked up a few grains 

of rice and gave it to the queen. Rani Matsya counted the 5 
grains and looked at his bowl full of rice and said, you shall be 
given what is due to you. Saying this, the chariot galloped away. 
Raman abused her under his breath. This he never thought 
would happen. How could she ask him for something in return, 
when she hadn’t given him anything? Irked with anger, he 
stormed home and gave his wife the bowl of rice. Just then he 
saw a sack at the entrance. His wife said some men had come 
and kept it there. He opened it to find it full of rice. He put his 
hand inside and caught hold of a hard metal only to discover it 
was a gold coin. Elated, he upturned the sack to find 5 gold 
coins in exact for the five rice grains. If only I had given my 
entire bowl, thought Raman, I would have had a sack full of 
gold. 
71. What does the phrase ‘pulled a long face’ as used in the 

passage mean? 
 (1) Scratched his face (2) Looked very sorrowful 
 (3) Disguised himself (4) Put on makeup 
 (5) None of these 
72. What can possibly be the moral of the story? 
 (1) Do to others as you would want others to do to you 
 (2) Patience is a virtue 
 (3) Winning is not everything, it is the journey that counts 
 (4) Change is the only constant thing in life 
 (5) None of these 
73. Why was begging the only option for Raman to get food? 
 (1) As Raman belonged to a family of beggars 
 (2) As begging was the easiest way for him to obtain food  
 (3) As Raman’s family had forced him to  beg 
 (4) As he had lost all his property and was too old to do 

manual work 
 (5) None of these 
74. What did Raman find after he returned home from his 

meeting with Rani Matsya? 
 (1) The Rani’s soldiers (2) An empty house 
 (3) The five grains of rice that he had given to Rani Matsya 
 (4) A sack full of rice and five gold coins 
 (5) None of these 
75. According to the passage, which of the following is definitely 

true about Rani Matsya? 
 A. She was beautiful.  B. She was intelligent. 
 C. She was kind. 
 (1) Only A and C  (2) Only B and C 
 (3) Only C (4) A and B (5) All the three 
76. Which of the following words can be used to describe 

Raman? 

A. Deceitful B. Selfish C. Timid  
 (1) Only A (2) Only B (3) A and B (4) B and C 
 (5) All the three 
Directions (77–78) : Choose the word/group of words which is 
most similar in meaning to the word/group of words printed in 
bold as used in the passage. 
77. Galloped 
 (1) Hurtled (2) Stumbled (3) Slumbered (4) Jumped (5) Ran 
78. Revered 
 (1) Remembered (2) Feared (3) Talked about (4) Embraced 
 (5) Respected 
Directions (79-80) : Choose the word/group of words which is 
most opposite in meaning to the word/group of words printed in 
bold as used in the passage. 
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79. Reveal 
(1) Stop (2) Conceal (3) Present (4) Pending (5) Tell  

80. Elated 
(1) Afraid (2) Poor (3) Happy (4) Depressed (5) Grounded 
Directions (81 - 85) : In the following questions a sentence has 
been given with some of its part bold.  
To make the sentence correct you have to replace the bold part 
with the correct alternative given below. If the sentence is 
correct as it is, please give 5) as your answer, i.e, No correction 
required. 
81. A nation cannot progress when the elected representatives 

of the people are often seen loading the cart in contrary 
directions. 

 (1) loading the cart in all directions 
 (2) placing the carts in diverse areas 
 (3) pulling the cart in different directions 
 (4) fighting the cart in confusing directions 

 (5) No correction required 
82. A nation like India that has been suffering centuries of 

foreign subjection has every right to strengthen its defence. 
 (1) for long suffered from foreign subjection of centuries 
 (2) been suffering for the centuries of foreign subjection 
 (3) to suffer with centuries of foreign subjection 
 (4) suffered centuries of foreign subjection 
 (5) No correction required 
83. People seem to be developing an attitude of dislike 

towards the whole class of politicians 
 (1) a disliking attitude 
 (2) an attitude towards disliking 
 (3) some attitude for dislike 
 (4) some attitude of dislike 
 (5) No correction required 
84. Food security for the ever-increasing population is one of the 

most serious problem world is facing. 
 (1) one of the serious problems 
 (2) one problem with seriousness 
 (3) amongst the serious problem 
 (4) one major serious problem  
 (5) No correction required 
85. Instead of showing up a front of unity the politicians hurl 

allegations and counter allegations at each other. 
 (1) gearing up a unity front 
 (2) bearing for a front with unity 
 (3) marking above a united front 
 (4) presenting a united front 
 (5) No correction required 
Directions (86 - 90) : Rearrange the following five sentences (A), 

(B), (C), (D) and (E) in the proper sequence to form a 

paragraph; then answer the questions given below them. 
(A) He felt that his honest ways wereresponsible for the poverty 

and starvation of his family. 
(B) Sixteen miles away from Mysore, there is a dense forest. 
(C) He told them how his honesty was useless and asked if he 

should try an alternative. 
(D) They told him that they would prefer starving to dishonesty. 
(E) Once there lived a poor but honest woodcutter in the forest. 
(F) So he wanted to discuss his feeling with his wife and 

children. 
86. Which of the following should be the SIXTH(LAST) sentence 

? 
(1) A (2) B (3) C (4) D (5) E 
87. Which of the following should be the FIRST sentence ? 
(1) A (2) B (3) C (4) D (5) E 

88. Which of the following should be the FIFTH sentence ? 
(1) A (2) B (3) C (4) D (5) E 

89. Which of the following should be the SECOND sentence ? 
(1) A (2) B (3) C (4) D (5) E 
90. Which of the following should be the THIRD sentence after 

rearrangement ? 
(1) A (2) B (3) C (4) D (5) E 
Directions (91–95) : The given sentence have two blanks which 
indicate that something has been omitted. Choose the words 
that best fit the meaning of the sentence as a whole. 
91. Now, the educational courses in many institution are sold 

and even _____ for _____ prices. 
 (1) auctioned, fabulous 
 (2) glamourised, soaring 
 (3) bought, competitive 
 (4) advertised, cover 
 (5) demanded, handy 

92. Limited _____ of resources and their limited potential is 
everybody's _____ . 

 (1) assess, responsibility (2) reach, game 
 (3) availability, concern (4) area, knowledge 
 (5) scope, story 
93. The right to livelihood is an _____ facet of the right to life, 

_____ as a fundamental right under the Constitution. 
(1) important, enjoying  (2) integral, guaranteed 

 (3) utmost, covered  (4) ideal, procured 
 (5) essential, denied 
94. For a large majority of poor people, labour power is the only 

productive _____ they _____ for securing a living. 
(1) energy, gain (2) field, deliver 
(3) assignment, carry (4) asset, possess 
(5) area, work 
95. The committee's is _____ to create a space for democratic 

_____ of conflicts. 
(1) efforts, solution (2) tasks, findings 
(3) finding, settlement (4) concern, adherence 
(5) endeavour, resolution. 
Directions (96 – 100) : Read each sentence to find out whether 
there is any grammatical error or idiomatic error in it. The error, 
if any, will be in one part of the sentence. The number of that 
part is the answer. If there is no error, the answer is (5). 
(Ignore errors of punctuation, if any.) 
96. 1) The rate on which we are /2) accumulating information is 

not /3) commensurate with the rate at /4) which our 
awareness is growing. /5) No error. 

97. 1) If one wants pearls /2) one has to dive deep /3) beneath 
the sea or be content /4) with pebbles on the shore. /5) No 
error. 

98. 1) This is the way /2) to dissolving of /3) all differences 
between /4) individuals, com munities and faiths. /5) No 
error 99. 1) We need to /2)  attune ourselves/ 3) to receiving 
or learning /4) the truth. /5) Noerror.  

100. 1) We need to get /2) sensitised to the way /3) we affect 
other fellow humans. /5) 

 


